

Republic of the Philippines
Department of Agriculture
BUREAU OF SOILS AND WATER MANAGEMENT
SRDC Building Elliptical Road corner Visayas Avenue,
Diliman, Quezon City 1101
customers.center@bswm.da.gov.ph
Tel. no. (632) 8273-2474 local 3202

## NOTICE OF AWARD

## FERNANDO G. OLARTE JR.

Proprietor Marao Integrated Farm Rang-ay, Banga, South Cotabato

eMail address: jhongolarte777@gmail.com

## Dear Mr. Olarte:

We are pleased to inform you that your bid dated May 21, 2024 for the execution of the contract for the Supply and Delivery of Various Agricultural Supplies Batch 3 CY 2024 - IB No. BSWM 2024-04-038 Lot 5 (PhP 2,687,852.00), Lot 6 (PhP 3,707,340.00), Lot 7 (PhP 1,505,360.00), Lot 8 (PhP 1,200,360.00), Lot 9 (PhP 1,648,452.00), Lot 10 (PhP 574,290.00), and Lot 13 (PhP 1,163,980.00) with a Contract Price equivalent to Twelve Million Four Hundred Eighty-Seven Thousand Six Hundred Thirty Four Pesos (PhP 12,487,634.00) undertaken through Public Bidding being the Lowest Calculated and Responsive Bid (LCRB) has been accepted.

Lot/ Item No.	ITEM	UNIT	QTY	UNIT COST	TOTAL COST
LOT 5	LSD-REGION I				
	LSD-NSHP-CURRENT				
1	Seeds, white corn, OPV, 20 kls/bag, Glutinous composite#2 or Lagkitan	bag	30	₱6,000.00	₱180,000.00
2	Organic Fertilizer, at least 40 kgs/bag	bag	150	₱550.00	₱82,500.00
3	Ammonium phosphate (16-20-0), 50 kg/ bag	bag	83	₱1,860.00	₱154,380.00
4	Urea (46-0-0), 50 kg/ bag	bag	28	₱2,020.00	<b>₱</b> 56,560.00
5	Muriate of Potash (0-0-60), 50 kg/bag	bag	28	₱2,679.00	₱75,012.00
	Date of delivery: <b>On or before August 30,2024</b> Place of delivery: <b>Sta. Cruz, Ilocos Sur</b>				
6	Organic fertilizer, at least 40kg/bag	bags	1000	₱550.00	₱550,000.00
	Date of delivery: <b>On or before June 14 , 2024</b> Place of delivery: <b>Esmeralda, Balungao, Pangasinan</b>				
7	Complete (14-14-14), 50kg/bag	bags	204	<b>₱</b> 2,100.00	<b>₱</b> 428,400.00
8	Urea (46-0-0), 50kgs/bag, Granular	bags	200	₱2,200.00	₱440,000.00
9	Muriate of Potash (0-0-60), 50kg/bag	bags	50	₱3,100.00	<b>₱</b> 155,000.00
10	Zinc Sulfate, 25 kg/bag	bags	4	₱4,000.00	₱16,000.00
	Date of delivery: <b>On or before September 30</b> Place of delivery: <b>Urdaneta, Pangasinan</b>	, 2024			

Lot/ Item No.	ITEM	UNIT	QTY	UNIT COST	TOTAL COST
	LSD-NSHP-CONTINUING				
11	Organic Fertilizer, at least 40 kgs/bag	Bags	1000	550.00	550,000.00
	Date of delivery: On or before September 3 Place of delivery: Urdaneta, Pangasinan	0, 2024			
LOT 6	LSD-REGION II				
	LSD-NSHP-CURRENT				
1	Seeds, yellow corn, Hybrid, regular,20 kgs/bag	bag	30	<b>₱</b> 5,000.00	₱150,000.00
2	Compost Fertilizer or Organic Fertilizer, at least 40 kg/bag	bag	150	₱550.00	₱82,500.00
3	Ammonium phosphate (16-20-0), 50 kg/ bag	bag	124	<b>₱1,780.00</b>	₱220,720.00
4	Urea (46-0-0), 50 kg/ bag	bag	38	₱2,000.00	₱76,000.00
5	Muriate of Potash (0-0-60), 50 kg/bag	bag	42	₱2,860.00	₱120,120.00
	Place and date of delivery: Amulung, Cagayan - On or before Novembe	r 8, 202	24		
	LSD-NSHP-CONTINUING				
6	Compost Fertilizer or Organic Fertilizer, at least 40 kgs/bag	bags	1000	₱550.00	₱550,000.00
7	Complete (14-14-14), 50kgs/bag	bags	408	<b>₱</b> 2,000.00	₱816,000.00
8	Urea (46-0-0), 50kgs/bag, Granular	bags	400	₱2,000.00	₱800,000.00
9	Muriate of Potash (0-0-60), 50kg/bag	bags	100	₱3,100.00	₱310,000.00
10	Zinc Sulfate, 25 kg/bag	bags	8	₱4,000.00	₱32,000.00
	Date of delivery: On or before September 3 Place of delivery: Tuao, Cagayan	0, 2024			
11	Compost Fertilizer or Organic Fertilizer, at least 40 kgs/bag	bags	1000	₱550.00	<b>₱</b> 550,000.00
	Date of delivery: On or before September 3 Place of delivery: Alcala, Cagayan	0, 2024			
LOT 7	LSD-REGION III				
	LSD-NSHP-CURRENT				
1	Seeds, yellow corn, Hybrid, regular,20 kgs/bag	bag	30	₱7,000.00	₱210,000.00
2	Organic Fertilizer, at least 40 kg/bag	bag	150	₱550.00	₱82,500.00
3	Ammonium phosphate (16-20-0), 50 kg/ bag	bag	124	₱1,790.00	₱221,960.00
4	Urea (46-0-0), 50 kg/ bag	bag	38	<b>₱2,100.00</b>	<b>₱</b> 79,800.00
5	Muriate of Potash (0-0-60), 50 kg/bag	bag	42	₱2,050.00	₱86,100.00
	Place and date of delivery: Concepcion, Tarlac - On or before August 10	5, 2024			
6	Compost Fertilizer or Organic Fertilizer, at least 40 kgs/bag	bags	500	₱550.00	₱275,000.00
	Date of delivery: On or before September 3 Place of delivery: Camiling, Tarlac	0, 2024			

Lot/ Item No.	ITEM	UNIT	QTY	UNIT COST	TOTAL COST
	LSD-NSHP-CONTINUING				
7	Organic Fertilizer, at least 40 kgs/bag	bag	1000	₱550.00	₱550,000.00
	Date of delivery: On or before August 30, 2024 Place of delivery: San Narciso Zambales				
LOT 8	LSD-REGION VI				
	LSD-NSHP-CURRENT				
1	Seeds, yellow corn, Hybrid, regular,20 kgs/bag	bag	30	₱6,000.00	₱180,000.00
2	Organic Fertilizer, at least 40 kgs/bag	bag	150	₱550.00	₱82,500.00
3	Ammonium phosphate (16-20-0), 50 kg/ bag	bag	124	<b>₱</b> 1,790.00	₱221,960.00
4	Urea (46-0-0), 50 kg/ bag	bag	38	₱2,100.00	₱79,800.00
5	Muriate of Potash (0-0-60), 50 kg/bag	bag	42	₱2,050.00	₱86,100.00
	Place and date of delivery: Sta. Barbara, Iloilo - on or before June 21, 2024				
	LSD-NSHP-CONTINUING				
6	Compost Fertilizer or Organic Fertilizer, at least 40 kgs/bag	bag	1000	₱550.00	₱550,000.00
	Place and date of delivery: Sibalom, Antique (1000 bags) - on or before September 6, 2024				
LOT 9	LSD-REGION VII				
	LSD-NSHP-CURRENT				
1	Seeds, white corn, OPV, Conventional Hybrid	bag	30	<b>₱</b> 6,000.00	₱180,000.00
	White, 20 kls/bag				
2	Organic Fertilizer, at least 40 kgs/bag	bag	150	₱550.00	₱82,500.00
3	Ammonium phosphate (16-20-0), 50 kg/ bag	bag	83	₱1,860.00	₱154,380.00
4	Urea (46-0-0), 50 kg/ bag	bag	28	₱2,020.00	<b>₱</b> 56,560.00
5	Muriate of Potash (0-0-60), 50 kg/bag	bag	28	₱2,679.00	₱75,012.00
	Place and date of delivery:				
	Toledo City, Cebu - on or before June 28, 2024				
	LSD-NSHP-CONTINUING				
6	Organic Fertilizer, at least 40 kgs/bag	bag	2000	₱550.00	₱1,100,000.00
	Date of delivery: On or before June 28, 2024 Place of delivery: Talibon, Bohol (1000 bags) and Ubay, Bohol, (1000 bags)				
LOT 10	LSD-REGION VIII				
	LSD-NSHP-CURRENT				
1	Seeds, white corn, OPV, Conventional Hybrid	bag	30	A A SERVICE TO SERVICE	
	White, 20 kls/bag			₱6,000.00	₱180,000.00
2	Organic Fertilizer, at least 40 kgs/bag	bag	150	₱550.00	₱82,500.00
3	Ammonium phosphate (16-20-0), 50 kg/bag	bag	83	₱2,090.00	₱173,470.00
4	Urea (46-0-0), 50 kg/ bag	bag	28	₱2,190.00	₱61,320.00
5	Muriate of Potash (0-0-60), 50 kg/bag	bag	28	₱2,750.00	₱77,000.00

Lot/ Item No.	ITEM	UNIT	QTY	UNIT COST	TOTAL COST
	Place of delivery: Dulag, Leyte Date of delivery: June 28, 2024				
LOT 13	LSD-REGION XII				
	LSD-NSHP-CURRENT				
1	Seeds, yellow corn, Hybrid, regular, 20 kgs/bag	bag	30	₱6,000.00	₱180,000.00
2	Organic Fertilizer, at least 40 kgs/bag	bag	150	₱530.00	₱79,500.00
3	Ammonium phosphate (16-20-0), 50 kg/ bag	bag	124	₱1,700.00	₱210,800.00
4	Urea (46-0-0), 50 kg/ bag	bag	38	₱1,760.00	₱66,880.00
5	Muriate of Potash (0-0-60), 50 kg/bag	bag	42	₱2,300.00	₱96,600.00
	Place and date of delivery:				
	Koronadal City, South Cotabato - on or before August 30, 2024				
	LSD-NSHP-CONTINUING				
6	Organic Fertilizer, at least 40 kgs/bag	bag	1000	₱530.20	₱530,200.00
	Place and date of delivery:				
	Pigcawayan, Cotabato- on or before Augus	t 30, 20	24		

Pursuant to Section 39.1 of the Implementing Rules and Regulations of Republic Act 9184, you are hereby required to **provide within ten (10) calendar days** from the receipt of this notice, **a Performance Security** and **signed Contract Agreement.** The Performance Security shall be denominated in Philippine Pesos and posted in favor of the Procuring Entity in an amount not less than the required percentage of the total contract price in accordance with the following schedule:

Form of Performance Security	Amount of Performance Security (not less than the percentage of the total Contract Price)
(a) Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	Five percent (5%)
(b) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Five percent (5%)
(c) <b>Surety bond</b> callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security. Together with the surety bond, a copy of a valid Certification from Insurance Commission must be submitted by	Thirty percent (30%)

the bidder which must state that the surety or the insurance company is specifically authorized to issue surety bond.

Failure to provide and comply with the above-mentioned requirement shall constitute sufficient grounds for the annulment of the award and forfeiture of the bid security.

Very truly yours,

GINA P NILO, Ph. D

JUN 0 4 2024

I acknowledge receipt of this Notice on: Name of the Representative of the Bidder: Authorized Signature: June 4, 2024 Fernando G. Olarfe Ur